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Facts about this Ferris wheel: \§
e The Ferris wheel has a radius of 25 feet. o)
e The Ferris wheel’s center is 30 feet off the ground. @ (< p—
e The Ferris wheel turns counterclockwise.

The Ferris wheel makes one complete revolution every 20 seconds.

Suppose that when the Ferris wheel has finished loading passengers
and starts to turn at its regular speed, Carlos is at position A.

Calculate Carlos’s height at various times after he passes point A. (4 see '
Elapsed |
time since
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1 second 30+ 29 sin (18°) 3F. 33 &
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23 seconds |5 oy e a$ B Sec 50.23 £
28 seconds | 5 <y me aS § 3€c HY..4 £+
36 seconds |, 1y, UseC,bus sypraced 30 — 35 sin (1824) | .22
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2. Write a function h(t) to calculate Carlos’s height at time ¢, if ¢ is within the first 5 seconds.

W) = 20+ 25 sia (13t)

3. How do you need to modify your function if ¢ is after the firstJ 5 seconds?

|
S0d an e%'\\m\m‘r poshon within st 5 seconds,
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BUT it fiuns ot Hrak 4he calonlotor will do
e OF CW\%\?-'S not behoeen 0° gnd 900 !
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WO =30+35 s (18D For onu Hme !




